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WBPSC Food SI Exam. Practice Set – 2
Answer with Explanation

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

1. (c) î,£ßþ™!“þéôéŸ!˜ @ùÌöì£îû ›•Äî“Åþ# x‚öìŸ ò@ùÌ£y’%þ™%Oó ö”…y ëyëûÐ
2. (c) ¢Á±!“þ ~!Ÿëûy˜ övþöì¦þœþ™öì›rÝþ îÄyBþ ‘India­Tripura Urban

and Tourism Development Project’éôé~îû ‹˜Ä ö„þw#ëû
¢îû„þyöìîûîû ¢yöìí 100 !›!œëû̃  ›y!„Åþ˜ vþœyîû }öì’îû ~„þ!Ýþ
‰%þ!_« ßþºyÇþîû „þöìîûöìŠéÐ

3. (b) ò£z̃ öì¢œîy‹Åó “þîûDÇþëû myîûy †!àþ“þ £ëûÐ
4. (a) ö¢yöì̃ îûy˜ ›îû&¦)þ!› vþz_îû xyöì›!îû„þyëû xî!ßþi“þÐ
5. (b) òçöì‹y˜ †Äy¢ó îyëû%›[þöìœîû ßþTÉyöìÝþy!ßþ³þëûyîû hßþöìîû ö”…öì“þ þ™yçëûy

ëyëûÐ
6. (c) „þy!œ!¨îû vþz_îûy‚Ÿöì„þ ò!”ëûyîûyó îœy £ëûÐ
7. (d) £z¨y¢£z̈  îÄyBþ ¢Á±!“þ îû&öìþ™ ö˜Ýþçëûyöì„Åþ ¦þyîûöì“þîû ²Ìí›

„þöìþ™ÅyöìîûÝþ öe«!vþÝþ „þyvÅþ ‘The eSvarna’ „þyvÅþó ‰þyœ% „þöìîûöìŠéÐ
8. (a) „þy˜Åyœy£zÝþ ö„Ïþyîûy£zöìvþîû îû*þ™Ð
9. (a) öîû„þ!Ýþšþyöìëûvþ !ßþ™!îûöìÝþ 95 Ÿ“þy‚Ÿ £zíy£zœ xÄyœöì„þy£œ

íyöì„þÐ
10. (a) ¢Á±!“þ ›%Áºy£zöì“þ ¦þyîû“þ#ëû ö˜ïîy!£˜#öì“þ „þ!›Ÿ˜ „þîûy !ÞÝþœí

†y£zöìvþvþ !›¢y£zœ övþßþTÉëûyöìîûîû ˜y› £œ xy£z~˜~¢ £zÁ³þœÐ
11. (b) “þîû&Çþ#îû öíöì„þ îûîyîû ‹›yöì“þ xÄyöì¢!Ýþ„þ xÄy!¢vþ ¢‚öìëy‹˜

„þîûy £ëûÐ
12. (d) vþyëû˜yöì›y– ëy !î”%Äê vþzêþ™§¬ „þö ìîû– ö¢!Ýþ Ÿ!_«îû ßþi y˜

þ™!îûî“Åþ˜„þyîû# !£¢yöìî „þy‹ „þöìîûÐ
13. (b) ö›yîy£zœ öšþyöì̃  îÄî£*“þ ²Ìë%!_« ‘GSM’ ~îû þ™%öìîûy „þíy!Ýþ

£œéôô Global System for Mobile.
14. (b) ›£„%þ›yŸy¢„þ ö‹œyŸy¢öì„þîû x•#öì̃  „þy‹ „þöìîûÐ
15. (a) !î‰þyîû !î¦þy†#ëû ¢›#Çþy ›y!„Åþ˜ ë%_«îûyöìÜTÉîû x˜%„þîûöì’ ¦þyîûöì“þ

@ùÌ£’ „þîûy £öìëûöìŠéÐ
16. (a) òþ™y…%£z çëûy£zÓþ œy£zšþ ¢Äy‚‰%þëûy!îûó xîû&’y‰þœ ²Ìöì”öìŸ xî!ßþi“þÐ
17. (c) ¦þyîûöì“þîû ²Ìí› ‘Remote Sensing Satellite’ £öìFŠé IRS

IAÐ ~!Ýþ 1988 ¢yöìœ vþzêöìÇþþ™’ „þîûy £öìëû!ŠéœÐ
18. (b) xy£zxy£z!Ýþ öîyöìÁº ¢Á±!“þ ò¦þyîû“þ!‹!þ™!Ýþ Sö‹˜yöìîû!Ýþ¦þ

!²ÌéôéöÝþÆ̃ vþ ÝþÆyªšþ›ÅyîûVó ö²Ìy@ùÌyöì›îû !î„þyöìŸîû ‹˜Ä !îûœyöìëûª !‹ç
£z̃ öìšþy„þ› !œ!›öìÝþöìvþîû S!‹çV ¢yöìí ¢£öìëy!†“þy „þöìîûöìŠéÐ

19. (c) „%þöì›îû&öì“þ ¦þyîûöì“þîû “,þ“þ#ëû †öìî¡ì’yöì„þöìwîû ˜y› £œ ¦þyîû“þ#Ð
2012 ¢yöìœ ~!Ýþ ßþiy!þ™“þ £öìëû!ŠéœÐ „%þöì›îû&öì“þ ¦þyîûöì“þîû ²Ìí›
†öìî¡ì’yöì„þw 1983 ¢yöìœ ßþiy!þ™“þ £öìëû!Šéœ ~î‚ ~îû ˜y›
!Šéœ ò”!Çþ’ †öìDye#ó ~î‚ !m“þ#ëû †öìî¡ì’yöì„þw!Ýþ £œ ÷›e#
ëy 1989 ¢yöìœ ßþiy!þ™“þ £öìëû!ŠéœÐ

20. (c) ›y!„Åþ˜ ë%_«îûyöìÜTÉîû ²Ìy_«˜ îûyÜTÉþ™!“þ !îœ !„Ïþ˜Ýþöì̃ îû xyd‹#î˜#
£œ ò›y£z œy£zšþóÐ

21. (b) ¢Á±!“þ ö¢rÝ þ Æ yœ £zuþy!ß þT Éë û yœ !¢!„ þvþ z!î û!Ýþ öšþyö ì¢ Åî û
S!¢xy£z~¢~šþV ²Ìí› ›!£œy ›£yþ™!îû‰þyœ„þ S!vþ!‹V !£¢yöìî
˜#˜y !¢‚öì„þ !˜ë%_« „þîûy £œÐ

22. (c) òxÄy!œ¢ £z̃  çëûyuþyîûœÄyuþó @ùÌsþi!Ýþ œ%£z¢ „þÄyîûöìœîû öœ…yÐ
23. (d) öîûöìÝþÆy¦þy£zîûyöì¢îû xyîû~˜~ öíöì„þ !îû¦þy¢Å ÝþÆyª!e«þ™öìÝþ‹ myîûy

!vþ~˜~ vþzêþ™§¬ £ëûÐ
24. (d) îy!vþüöì“þ ~!¢ îÄî£yîû „þîûy £ëû „þyîû’ ~!¢ þ™!îûî£’ ¢y×ëû„þyîû#Ð

25. (a) öîûy• 
200 200

100


 = 400 

26. (c) ~„þ‹˜ ²Ìy®îëûöìßþñîû £*ê!þ™uþ ²Ì!“þ ‡^ùÝþyëû ²Ìyëû 300 !œÝþyîû
îû_« þ™yÁ™ „þöìîûÐ

27. (d) îûy‹ßþiyöì̃ îû 14“þ› ›%…Ä›sþf# !£¢yöìî ¢Á±!“þ Ÿþ™í !˜öìœ˜
¦þ‹˜ œyœ Ÿ›ÅyÐ

28. (a) ›%oyßþ³þ#!“þ £œ ”yöì›îû e«›î•Å›y˜ î,!kþÐ
29. (a) ¦)þ!›¢‚ßþñyîû îœöì“þ öîyGþyëû– ¢îû„þyöìîûîû ²Ìöì‰þÜTyëû ‰þy¡ì ˜y „þîûy

‹!›”yîûöì”îû ›y!œ„þy˜y x!•„þyîû îy!“þœ „þîûyÐ
30. (c) 1948 ¢yöìœîû 29 !vþöì¢Áºîû £yçvþüyëû !‹~œ ˜¨ ²Ì!“þÛþy

„þöìîû!Šéöìœ˜ !£¨% ›‹”%îû ¢‚‡Ð
31. (a) îûy‹ßþiy˜ þ™%îû&¡ì !e«öì„þÝþ ”œöì„þ þ™îûy!‹“þ „þöìîû £!îûëûy˜y

2023éôé24 ¢yöìœîû !î‹ëû £y‹yöìîû ÝþÆ!šþ !‹“þœÐ
32. (a) ¦þyîû“þ#ëû ²Ìb“þöì_î́û ‹˜„þ £öìœ˜ xyöìœ„þ‹yuþyîû „þy!˜‚£y›Ð
33. (a) 1800 !…ÊÞÝþyöì· †¦þ˜Åîû ö‹˜yöìîûœ œvÅþ çöìëûöìœ¢!œ öšþyÝÅþ

vþz£z!œëûy› „þöìœ‹ ßþiyþ™˜ „þöìîû̃ Ð
34. (a) þ™Äy!îûöì¢ òîöì̈ ›y“þîû›ó þ™!e„þy ¢Á™y”˜y „þîûöì“þ˜ ›y”y› „þy›yÐ

›y”y› „þy›y ¦þyîû“þ#ëû ¢Ÿßþf ò!î²Õîîyöì”îû ‹˜˜#ó ˜yöì› þ™!îû!‰þ“þÐ
35. (c) ò…!œ›þ™%îû “þyÁËþ™Ýþó þ™yœî‚Ÿ#ëû îûy‹y •›Åþ™yöìœîû ¢›îû„þ#!“Åþ

¢Á™öì„Åþ xy›yöì”îû xî!£“þ „þöìîûÐ
36. (b) 1906 ¢yö ìœ !¢›œyëû ›%¢!œ› ²Ì!“þ!˜!•”öìœîû ö˜“,þc

!”öìëû!Šéöìœ˜ xy†y …y˜Ð
37. (b) ›£ydy †yõþ# ²Ì!“þ!Ûþ“þ ×!›„þ ¢‚†àþ˜!Ýþ £œ ›‹%îû ›£y‹˜Ð

~!Ýþ 1916 ¢yöìœ xyöì›”yîyöì” ßþiy!þ™“þ £öìëû!ŠéœÐ
38. (d) vþyœöì£ï!¢ 1856 !…ÊÞÝþyöì· „%þŸy¢öì̃ îû x!¦þöìëyöì† xöìëy•Äy

x!•@ùÌ£’ „þöìîû!Šéöìœ˜Ð
39. (b) ¦þyîûöì“þîû ßþºy•#˜“þy²Ìy!®îû ¢›ëû !îÊ!ÝþŸ ²Ì•y˜›sþf# !Šéöìœ˜ ö„Ïþöì›rÝþ

xÄyÝþ!œÐ
40. (d) ¢Á±!“þ „%þöìëûöì“þîû 17“þ› xy!›îû !£öì¢öìî Ÿþ™í !˜öìœ˜ öŸ…

ö›Ÿyœ xyœéôéxy£›” xyœéôé‹yöìîîû xyœéôé¢yîy£Ð
41. (c) £îû̄ y ¢¦þÄ“þyîû ²Ì•y˜ ö”î“þy £öìœ˜ xy!” !ŸîÐ
42. (d) xyëÅöì”îû ¢§¬Äy¢ xy×›!Ýþ òë!“þ xy×›ó ˜yöì› þ™!îû!‰þ“þÐ



xÄy!‰þ¦þy¢Åî¡ìÅ éôé 11– £z¢%Ä éôé 10  öšþîÊ&ëûy!îû– 20242

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

43. (c) !m“þ#ëû þ™y!˜þ™öìíîû ë%öìkþ xyšþ†y˜ ö¢˜yîy!£˜#öì„þ ö˜“,þc
!”öìëû!Šéöìœ˜é !£›%Ð 1556 !…ÊÞÝþyöì· þ™y!˜þ™öìíîû !m“þ#ëû ë%kþ
£öìëû!Šéœ ~î‚ ö¢£z¢›ëû ö›y‡œ ¢ÁËyÝþ !Šéöìœ˜ xy„þîîûÐ

44. (a) ”#!þ™„þy þ™yvþYöì„þy˜ ¢Á±!“þ £zrÝþyîû̃ ÄyŸ˜yœ ²Ìy£zöì¦þÝþ !œ!›öìÝþöìvþîû
²Ìí› !îÙ»îÄyþ™# !îþ™’˜ ”)“þ !£öì¢öìî !˜ë%_« £öìëûöìŠé˜Ð

45. (d) ö›ïëÅ¢ÁËyÝþ xöìŸy„þ !²Ìëû”ŸÅ# vþzþ™y!• @ùÌ£’ „þöìîû̃ Ð
46. (d) ¦þyîûöì“þîû ~„þ!Ýþ ßþiy˜#ëû îyëû% £œ œ%Ð

47. (c) 2 3T r
2 3

2 3
1 1

T r
T r



3
2 21

1 3

rT T
r

 

2 2
1T 8T

 1T 2 2 T

 !˜öì’Åëû xyî“Åþöì̃ îû þ™ëÅyëû„þyœ = 2 2 îŠéîû
48. (c) ö…öìœy £z!uþëûy £zëû%í ö†›öì¢îû ›Äy¢„þÝþ £œ !¦þîûy ›yDy£zÐ
49. (d) ¢y•yîû’ œî’ …y”Ä ¢‚îûÇþ„þ !£¢yöìî îÄî£*“þ £ëûÐ
50. (b) xÁÔîûyöì‹ £y£zöìvÈþyöì„Ïþy!îû„þ xÄy!¢vþ ~î‚ ˜y£z!ÝþÆ„þ xÄy!¢öìvþîû

x˜%þ™y“þ 3 : 1

51. (a) (A + B) 1 ‡^ùÝþyëû ¦þ!“Åþ „þöìîû 
1 1 9 3

12 15 60 20
     
 

(A + C) 1 ‡^ùÝþyëû ¦þ!“Åþ „þöìîû 
1 1 8 2

12 20 60 15
     
 

2 ‡^ùÝþyëû ¦þ!“Åþ „þîûy x‚Ÿ 
3 2 17

20 15 60
    
 

6 ‡^ùÝþyëû ¦þ!“Åþ „þîûy x‚Ÿ 
17 173
60 20

    
 

îy!„þ x‚Ÿ 
17 31
20 20

    
 

~…˜– (A + B) ~îû ¢›ëû 
3

20  x‚Ÿ ¦þîûöì“þ ¢›ëû ö˜ëû

1 ‡^ùÝþy
¢%“þîûy‚– !˜öì’Åëû ¢›ëû (6 + 1) = 7 ‡^ùÝþy

52. (b) ö›öìëû ­ ßþf# = 3 : 1 ~î‚ ßþf# ­ öŠéöìœ = 3 : 1
 ö›öìëû ­ ßþf# = 9 : 3 ~î‚ ßþf# ­ öŠéöìœ = 3 : 1
 ö›öìëû ­ ßþf# ­ öŠéöìœ = 9 : 3 : 1
•!îû– ö›öìëûîû ¦þy† 9x Ýþy„þy– ßþf#îû ¦þy† 3x Ýþy„þy ~î‚ öŠéöìœîû
¦þy† = x Ýþy„þy
“þy£öìœ (9x – x) = 10000
 8x = 10000  x = 1250

 ö›yÝþ ¢Á™!_
= (9x + 3x + x) = 13x = (13 × 1250)
= 16250 Ýþy„þy

53. (a) 2

1 1 1 1 1 1
x x 5 1.25 x 6.25
    

 x2 = 6.25 = (2.5 × 2.5) = (2.5)2

 x = 2.5
54. (c) ²Ì”_ îûy!Ÿ

m nm n
(m n) (n m)

m n
(m n) (n m)

x

x




 


 

 
   
 
 

 

 m n
m n

(m n ) (m n )

m n
m n m n

x

x


 

   

  
  

 
 

  
 
 

 

m nm n
m nm n

m n
(m n)
(m n)

x x 1 1
x

x

 
   






 
         

  
 

55. (d) ¢%öì̃ ˜yîû î“Åþ›y˜ îëû¢ = x
xyîû!“þîû î“Åþ›y˜ îëû¢ = y
þ™¤y‰þ îŠéîû þ™îû ¢%öì̃ ˜yîû îëû¢ = x + 5
þ™¤y‰þ îŠéîû þ™îû xyîû!“þîû îëû¢ = y + 5

²ÌÙÀy˜%¢yöìîû– x + 5 = 
3
4 (y + 5)

 4x – 3y = –5 ...(i)
þ™¤y‰þ îŠéîû xyöì† ¢%öì̃ ˜yîû îëû¢ = x – 5
þ™¤y‰þ îŠéîû xyöì† xyîû!“þîû îëû¢ = y – 5

²ÌÙÀy˜%¢yöìîû– 
x 5 2
y 5 3





 3x – 2y = 5 ...(ii)
(i) ~î‚ (ii) ˜‚ ¢›#„þîû’ ¢›y•y˜ „þöìîû þ™y£z–
y = 35, x = 25 îŠéîû
xyîû!“þîû î“Åþ›y˜ îëû¢ = 35 îŠéîû

56. (d) ¦þy‹Ä = ¦þy‹„þ × ¦þy†šþœ + ¦þy†öìŸ¡ì
= 38 × 90 + 19 = 3420 + 19 = 3439

57. (d) •!îû– !˜öì’Åëû ¢‚…Äy x “þy£öìœ–
x + (19)2 = (23)2

 x = (23)2 – (19)2 = (23 + 19)(23 – 19)
= (42 × 4) = 168

58. (a) 25 ‹˜ öŠéöìœîû vþzF‰þ“þyîû öëy† = (1.4 × 25) = 35
!›Ýþyîû
20 ‹˜ öŠéöìœîû †vþü vþzF‰þ“þy = (1.4 + 0.15) = 1.55
!›Ýþyîû
20 ‹˜ öŠéöìœîû vþzF‰þ“þyîû öëy† = (1.55 × 20) = 31
!›Ýþyîû
5 ‹˜ öŠéöìœîû vþzF‰þ“þyîû öëy† = (35 – 31) = 4 !›Ýþyîû

5 ‹˜ öŠéöìœîû †vþü vþzF‰þ“þy 
4 0.8
5

   !›Ýþyîû
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

59. (c) 6 xöìBþîû Ç%þo“þ› ¢‚…Äy = 100000
10 00 00 (316
  9
  100
    61
    3900
    3756
      144

3

61

626

!˜öì’Åëû ¢‚…Äy = (317)2 = 100489

60. (a) (16 + 6 7 ) = (9 + 7 + 2 × 3 × 7 )

   2 2
23 7 2 3 7 3 7         

 16 6 7 3 7     ~î‚

 16 6 7 3 7   

16 6 7 16 6 7   

   3 7 3 7 2 7    

 ²Ì”_ îûy!Ÿ 
7 1

22 7
 

61. (a) ²Ìöì“þÄ„þ ¢y!îûöì“þ ‰þyîûy†yöìŠéîû ¢‚…Äy 17956 134 

62. (b) •!îû– ö›yÝþ îûy˜ = x, “þy£öìœ– ¢öìîÅyF‰þ îûy˜ 
3x
11



îy!„þ îûy˜ 
3x 8xx
11 11

    
 

þ™îûî“Åþ# ¢öìîÅyF‰þ îûy˜ 
8x 3 24x
11 11 121

    
 

3x 24x 9 33x 24x 1089
11 121

    

 9x = 1089  x = 121
 ö›yÝþ îûy˜ = 121

63. (a) 2 !›!˜öìÝþ î¤y”îû!Ýþ çöìàþ = 3 !›Ýþyîû
 3 !›Ýþyîû vþzàþöì“þ ¢›ëû !˜öìëûöìŠé = 2 !›!˜Ýþ

75 !›Ýþyîû vþzàþöì“þ ¢›ëû !˜öìëûöìŠé 
2 75
3

   
 

= 50 !›!˜Ýþ

îy!„þ 5 !›Ýþyîû î¤y”îû!Ýþ ~„þ !›!˜öìÝþ vþzöìàþ …¤%!Ýþîû vþzþ™îû öþ™¤ïŠéyöìîÐ
¢%“þîûy‚– î¤y”îû!Ýþîû ö›yÝþ ¢›ëû öœöì†öìŠé = 51 !›!˜Ýþ

64. (a) 25.92 = (32 × 81) = 2592
¢%“þîûy‚ ”%!Ýþ ¢‚…Äyîû ›öì•Ä þ™yíÅ„þÄ = 0

65. (c) (y – z = 4  y = z + 4), (x + 2z = 11  x = 11
– 2z)
2x + 3y = 31  2(11 – 2z) + 3(z + 4) = 31
 z = 22 + 12 – 31 = 3

 x = (11 – 2 × 3) = 5 ~î‚
y = (3 + 4) = 7
¢%“þîûy‚– x + y + z = (5 + 7 + 3) = 15

66. (c)
0.10952 0.10952 100000

14.8 14.8 100000





10952 1 74 .0074
148 10000 10000

   

67. (b) ¢‚…Äy ~î‚ “þyîû ¦þy†öìŸöì¡ìîû þ™yíÅ„þÄ ¢›y˜Ð
20 – 13 = 7; 25 – 18 = 7; 35 – 28 = 7;
40 – 33 = 7
20, 25, 35 ~î‚ 40 ~îû œ¢y= = 2 × 2 × 3 × 5 ×
7 = 1400
 !˜öì’Åëû ¢‚…Äy 20, 25, 35 ~î‚ 40 ~îû œ¢y= – 7 =
1400 – 7 = 1393

68. (d) ßþ™ÜT“þ£z– ”%!Ýþ ¢‚…Äyîû †¢y=– ¢‚…Äy ”%!Ýþîû œ¢y= myîûy
þ™)’Å!î¦þy‹Ä £ëûÐ
¢%“þîûy‚ ö„þyöì̃ y ”%!Ýþ ¢‚…Äyîû œ¢y= 120 ~î‚ †¢y= 35
£öì“þ þ™yöìîû ˜yÐ

69. (b) ²Ì”_ îûy!Ÿ
1 1 1 1 1 1 11 ...
2 2 3 3 4 99 100

                      
       

1 991
100 100

    
 

70. (b) •!îû– “,þ“þ#ëû ¢‚…Äy = 100
“þy£öìœ ²Ìí› ¢‚…Äy = 130 ~î‚ !m“þ#ëû ¢‚…Äy = 140
!˜öì’Åëû %

130 1300 650 6100 % % % 92 %
140 14 7 7
      
 

71. (d) ö›yÝþ …y“þyîû !î!e« = (10 × 14) = 140!Ýþ
ö›yÝþ öþ™˜!¢œ îyöì:îû !î!e« = (6 × 14) = 84!Ýþ
140!Ýþ …y“þyîû ›)œÄ = (45 × 140) = 6300 Ýþy„þy
84!Ýþ öþ™˜!¢œ îyöì:îû ›)œÄ = (80 × 84) = 6720 Ýþy„þy
ö›yÝþ œy¦þ = (6300 Ýþy„þyîû 4%) + (6720 Ýþy„þyîû 20%)

4 206300 6720
100 100

               
 Ýþy„þy

= (252 + 1344) = 1596 Ýþy„þy

72. (a) •!îû– !Ýþ!¦þ ö¢öìÝþîû e«ëû›)œÄ = x Ýþy„þy
“þy£öìœ– (10600 – x) = 2(x – 9400)
 2x + x = 10600 + 18800
 3x = 29400  x = 9800
 ~„þ!Ýþ !Ýþ!¦þ ö¢öìÝþîû e«ëû›)œÄ = 9800 Ýþy„þy

73. (a) ö£›hsþ ­ ¢¨#þ™ = (50000 × 36) : (70000 × 28)
= 180 : 196 = 45 : 49
¢%“þîûy‚ ~öì”îû œ¦þÄy‚öìŸîû x˜%þ™y“þ £öìî = 45 : 49
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

74. (b) •!îû– !˜öì’Åëû !”˜ ¢‚…Äy = x
öî!Ÿ ”)îûc– öî!Ÿ !”˜ S¢›y˜%þ™y“þV
öî!Ÿ †!“þ– „þ› !”˜ SîÄhßþy˜%þ™y“þV
öî!Ÿ !î×y›– öî!Ÿ !”˜ S¢›y˜%þ™y“þV

y :2y
z :z :: 40 : x
9 :18







”)îûc
†!“þ

!î×y› ‡ ù̂Ýþy
 (y × 2z × 9 × x) = (2y × z × 18 × 40)

(2y z 18 40)x x 80
(y 2z 9)
  

   
 

!”˜

75. (a) o&“þ †!“þîû öÝþÆ˜!Ýþîû •#îû †!“þîû öÝþÆ˜!Ýþîû ¢yöìþ™öìÇþ †!“þ
= (60 – 40) !„þ!›/‡^ùÝþy

520
18

   
 

!›Ýþyîû/ö¢öì„þuþ 
50
9

  !›Ýþyîû/ö¢öì„þuþ

!˜öì’Åëû †y!vþüîû ÷”‡ÅÄ = xyöìþ™!Çþ„þ †!“þöì“þ 18 ö¢öì„þöìuþ

x!“þe«› „þîûy ”)îûc
50 18
9

   
 

= 100 !›Ýþyîû

76. (c) ›)œ•˜ = ` 2400, îŠéîû = 4 îŠéîû–
¢îûœ ¢%” = ` (3264 – 2400) = ` 864

¢%öì”îû £yîû 
100 864 %
2400 4

    
 îy!¡ìÅ„þ = 9% îy!¡ìÅ„þ

˜“%þ˜ ¢%öì”îû £yîû = 10% îy!¡ìÅ„þ

„þy!C“þ ¢%” 
102400 4

100
    
 

= ` 960 Ýþy„þy

¢%”éôéxy¢œ = (2400 + 960) = ` 3360
77. (a) !˜öì’Åëû þ™yíÅ„þÄ

3
2 4 2

5000 1 5000 1 1
100 100 100

      
          

      
`

51 51 51 26 51
5000 5000

50 50 50 25 50
      

    
        

`

2601 265100
2500 25

        
`

1 515100 2.04
2500 25

     
 

` ` `

78. (d) î†ÅöìÇþöìeîû ²Ìöì“þÄ„þ îyý 
160

4
 = 40 !›Ýþyîû

î†ÅöìÇþöìeîû öÇþešþœ = (40 × 40) = 1600 î†Å!›
xyëû“þöìÇþöìeîû öÇþešþœ = (1600 – 100) = 1500 î†Å!›
{2(l + b) = 160  l + b = 80}, l × b = 1500 (l
– b)2 = (l + b)2 – 4lb = (80)2 – 4 × 1500
= (6400 – 6000) = 400

 l – b = 400  = 20

l + b = 80 ~î‚ l – b = 20 ö„þ ¢›y•y˜ „þîûö ìœ
l = 50 !›Ýþyîû

79. (a) ‹öìœîû xyëû“þ˜ î,!kþ = ‡˜öì„þîû xyëû“þ˜
•!îû– ‹öìœîû hßþöìîûîû î,!kþ = x ö¢!› “þy£öìœ–
20 × 15 × x = 15 × 15 × 15

 15 15 45x 11.25
20 4


    ö¢!›

80. (c) 1 ‡^ùÝþyëû ‡!vþüîû î!•Å“þ ¢›ëû = 6 !›!˜Ýþ
6 ‡^ùÝþyëû ‡!vþüîû î!•Å“þ ¢›ëû = (6 × 6) = 36 !›!˜Ýþ
!˜öì’Åëû ¢›ëû = ¢„þyœ 11 : 36

81. (c) ` 100 ~îû }’þ™öìeîû îy‹yîû ›)œÄ 
104 1104

100
   

 
     = ` 105.04

` 15 xyöìëûîû ‹˜Ä !î!˜öìëûy† = ` 105.04

` 1500 xyöìëûîû ‹˜Ä !î!˜öìëûy† 
105.04 1500

15
   
 

   = ` 10504
82. (b) 8 ›y¢ þ™îû ²Ìöì”ëû ` 27000 ~îû î“Åþ›y˜ ›)œÄ

100 27000 25000
8100 12

12

 
    

       

`

˜†” ›)œÄ = ` 27000
¢%“þîûy‚– 8 ›y¢ þ™îû ²Ìöì”ëû ` 27000– !îöìe«“þyîû ‹˜Ä
œy¦þ‹˜„þÐ

83. (a)
3
2 îŠéöìîûîûû ›£y‹˜# Šéyvþü = ` 360  2 îŠéöìîûîûû ›£y‹˜#

Šéyvþü
2360 2 480
3

     
 

` `

²Ìöì”ëû ›)œÄ =
S›£y‹˜# ŠéyvþüV  S²Ì„,þ“þ ŠéyvþüV
S›£y‹˜# ŠéyvþüV  S²Ì„,þ“þ ŠéyvþüV

×
–

480 400 2400
80
   

 
` `

` 2400 ~îû 2 îŠéöìîûîû ¢îûœ ¢%” = ` 480

¢%“þîûy‚ ¢%öì”îû £yîû 
100 480 %
2400 2

    
 îy!¡ìÅ„þ = 10%

îy!¡ìÅ„þ
84. (b) •!îû– f(x) = 5x3 + 5x2 – 6x + 9

f(x) ö„þ (x + 3) !”öìëû ¦þy† „þîûöìœ ¦þy†öìŸ¡ì = f(–3)
 ¦þy†öìŸ¡ì = f(–3)
= 5 × (–3)3 + 5 × (–3)2 – 6 × (–3) + 9
= 5 × (–27) + 45 + 18 + 9
= –135 + 72 = –63
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

85. (c) •!îû– !˜öì’Åëû ¢›#„þîûöì’îû îûy!Ÿ  ~î‚ 
“þy£öìœ–  ~î‚ 
!˜öì’Åëû ¢›#„þîû’!Ýþ £œ
 x2 – ()x +  = 0 xíîy x2 – (–2)x – 4 = 0
xíîy x2 + 2x – 4 = 0

86. (d)    
 

sin A cosA 1 cot A
(sin A cosA) 1 cot A

 


 

[œî ~î‚ £îûöì„þ sin A !”öìëû ¦þy† „þöìîû þ™y£z]

31
14

3 71
4

  
  
  
 

87. (a) •!îû– AB £œ xyöìœy„þhßþ½þ ~î‚ C ç D £œ ”%!Ýþ ‹y£y‹Ð
ACB = XBC = 45°, ADB = XBD = 30°

30° 45°
A

B

h
x

CD x200 !›Ýþyîû

•!îû– CD = 200 !›Ýþyîû
•!îû– AC = x !›Ýþyîû ~î‚ AB = h !›Ýþyîû

“þy£öìœ– 
AC xcot 45 1 1 x h
AB h

      

~î‚ 
AB 1 h 1tan30
AD x 2003 3

    


x 1 3x x 200
x 200 3

    


 3 1 x 200  

 
 
 

3 1200x
3 1 3 1


  

 

   
200 3 1

100 3 1
2

 
  

88. (c)

A C

B E

D

•!îû– AB ~î‚ CD £œ ”%!Ýþ …¤%!Ýþ
“þy£öìœ– AB = 7 !›Ýþyîû ~î‚ CD = 13 !›Ýþyîû

BE  CD xBþ’ „þîû ~î‚ BD ö„þ ë%_« „þîû
~…˜– CE = AB = 7 !›Ýþyîû
DE = (CD – CE) = (13 – 7) = 6 !›Ýþyîû
~î‚ BE = AC = 8 !›Ýþyîû
¢›öì„þy’# BED ö“þ–
BD2 = BE2 + DE2 = (8)2 + (6)2 = 64 + 36 = 100
 BD2 = (10)2  BD = 10 !›Ýþyîû
¢%“þîûy‚ …¤%!Ýþ ”%!Ýþîû Ÿ#¡ìÅ!î¨%îû ›yöìGþ ”)îûc = 10 !›Ýþyîû

89. (a)

A B

CD

îûÁº¢ ABCD ö“þ •!îû ²Ì!“þ!Ýþ îyý = 10 ö¢!›
~î‚ A = C = 60°,
“þy£öìœ B = D = 120°
ßþ™ÜT“þ£z A = 60° ~î‚ AB = BD
ABD = ADB = 60°
¢%“þîûy‚ ABD ~„þ!Ýþ ¢›îyý !e¦%þ‹
¢%“þîûy‚ BD = AB = AD = 10 ö¢!›

90. (c) •!îû– ²Ì”_ ¢›öì„þy’# !e¦%þöì‹îû îyý=!œ ëíye«öì› £œ
x ö¢!›– y ö¢!› ~î‚ 20 ö¢!› “þy£öìœ–
x + y + 20 = 48  x + y = 28
x2 + y2 = (20)2 ... (i)
 x2 + y2 = 400 ... (ii)

B C
O

y
A

x

(i) ~îû î†Å „þöìîû þ™y£z x2 + y2 + 2xy = 784
 400 + 2xy = 784  2xy = 384  xy = 192
(x – y)2 = x2 + y2 – 2xy = (400 – 384)
= 16  x – y = 4
x + y = 28 ~î‚ x – y = 4 ¢›y•y˜ „þöìîû þ™y£z x =
16, y = 12
¢%“þîûy‚ !e¦%þöì‹îû îy!„þ îyý ”%!Ýþ £œ 16 ö¢!› ~î‚ 12
ö¢!›Ð

91. (b) ¢›hßþ „þöìœöì‹îû Šéye#îû †vþü ¢‚…Äy

= 
1
5 (2500 + 3000 + 2000 + 3000 + 3250)

13750 2750
5

 

92. (a) D ~î‚ E ~îû ö›yÝþ Šéye# = (3000 + 3250) = 6250
A, B ~î‚ C ~îû ö›yÝþ Šéye# = (2500 + 3000 +
2000) = 7500
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

!˜öì’Åëû % 
6250 100% 83.3% 83
7500

    
 

 %

93. (c) ¢›hßþ „þöìœöì‹ Šéye#îû ¢‚…Äy = 13750
¢›hßþ „þöìœöì‹ Šéyöìeîû ¢‚…Äy = (2250 + 2500 + 3000
+ 2250 + 2250) = 12250
!˜öì’Åëû þ™yíÅ„þÄ = (13750 – 12250) = 1500

94. (c) !˜öì’Åëû x˜%þ™y“þ 
2250 9 9 :10
2500 10

  

95. (d) C „þöìœöì‹ Šéyöìeîû ¢‚…Äy = 3000
¢›hßþ „þöìœöì‹ Šéyöìeîû ö›yÝþ ¢‚…Äy = 12250

!˜öì’Åëû % 
3000 100 % 24.49% 25%

12250
    
 



96. (b)
17 10 6 53.4;  0.588; 0.545;  0.833
5 17 11 6
   

x•ƒe«› = 3.4; 0.8.33; 0.588; 0.545
17 5 10 6, , ,
5 6 17 11

97. (a) •!îû– ¢‚…Äy!Ýþ £œ x
8
7 !”öìëû =’ „þîûöìœ ²Ìy® ¢‚…Äy

8x
7



7
8 !”öìëû =’ „þîûöìœ ²Ìy® ¢‚…Äy

7x
8



vþz_öìîû ¦%þœ
8x 7x 64x 49x 15x
7 8 56 56


   

Ÿ“þ„þîûy ¦%þœ 

15x
56 1008x
7

 

15x 7 15100 100 23.43%
56 8x 64

     

98. (a) ÝþÄyöìBþîû vþzþ™!îû“þöìœîû ²Ìßþi = 8 !›Ýþyîû
ÝþÄyöìBþîû “þœöì”öìŸîû ²Ìßþi = 6 !›Ýþyîû
ÝþÄyöìBþîû ÷”‡ÅÄ = 7 !›Ýþyîû
ÝþÄyöìBþîû †¦þ#îû“þy = 4 !›Ýþyîû

ÝþÄyöìBþîû •yîû’Çþ›“þy Sxyëû“þ˜V =
Svþzþ™!îû¦þyöì†îû ²Ìßþi  “þœöì”öìŸîû ²ÌßþiéV  †¦þ#îû“þy  ÷”‡ÅÄ+ × ×

2
(8 6) 4 7 14 4 7 196

2 2
    

   ‡˜!›Ýþyîû

99. (c) ¢›îyý !e¦%þöì‹îû îyý 4 3 ö¢!›

!²Ì‹öì›îû xyëû“þ˜ 72 2  ‡˜öì¢!›
!²Ì‹öì›îû xyëû“þ˜ = ¦)þ!›îû öÇþešþœ × vþzF‰þ“þy

72 2  ¢›îyý !e¦%þöì‹îû öÇþešþœ × vþzF‰þ“þy
372 2 4 3 4 3

4
     vþzF‰þ“þy

 vþzF‰þ“þy 
72 2 4 6 2 2 6

3 4 3 4 3 3


  
 

ö¢!›

100.(c) !þ™îûy!›öìvþîû ¦)þ!› PQRS £œ ~„þ!Ýþ î†ÅöìÇþe ëyîû îyý
PQ = QS = RS = PR = 6 ö¢!›
!“þëÅ„þ vþzF‰þ“þy UL = UM = UN = UO = 4.2 ö¢!›

R S
M

NOL

P Q

U

 !þ™îûy!›öìvþîû !“þëÅ„þ “þöìœîû öÇþešþœ = 
1
2 × ¦)þ!›îû

þ™!îû¢#›y × !“þëÅ„þ vþzF‰þ“þy
1 4 6 4.2 50.4
2
    ö¢!›

 ¢›@ùÌ“þöìœîû öÇþešþœ = ¦)þ!›îû öÇþešþœ + !“þëÅ„þ “þöìœîû
öÇþešþœ
Sîyý × îyýV + !“þëÅ„þ “þöìœîû öÇþešþœ
= (6 × 6) + 50.4 = 36 + 50.4 = 86.4 î†Åöì¢!›


